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A Gentile does as he wants - TOAYR WDIT ONYTH 2200 TAW

Overview

The X3 explained that if a >321 writes a 03, even with a 2"y¥3, it is 2109, for since a
M1 is T°aVp 7PWOIT PNVTY, it is not written 7w, Our NDOIN reconciles our XN
with a seemingly contradictory X2 n3.

nooIN asks:
- ImawY A9 NN’ 2a YA (n,15 97 1t Amay) 1PTINIYN PR PI91T PNNY 199249 NN

The >''1 is astounded, for *''7, in PP7°2¥% X P75, requires 72w by a 7799 n°1a -
- 59 NP DIVOIT NINYTIT N XY INDIN 995 293N 597 1959N)
And nevertheless > teaches that a »221 may be 2, and he does not say 7°ny7>

o2V KP 7WBIT, why here by a v3 do we say that 72yp wo17 7°ny72?! What is the difference
between a v (where a *121is 7109) and 19°» (where a >721 is Ww2)?

n90IN answers:
—>0N0 NYIYY 19957 T5aY MIYDNT NONYTYT AMNT KDY PN 13229 9N

And the v''1 answers that this which we say here that a >701is w17 7onYT>

772y, this means that he does it ano, but not that he intends specifically”* mw® xow -
- (3,297 DHAT YW YINRTI NP NNAYY INY DN V) *aN

So regarding ws, writing it ano does not make it 72w», as the X3 stated in the
beginning of 2°m2r NJon -
- S5r1mY PUIIIY INY AUN DNDT DIUN

Because a woman generally is not destined to be divorced -
$599 1YY 1PN BNt MINTI KPP NPYY NN 1Y YaN

However regarding %% doing it ano is considered ;7»wb as the X n states in
2°mar noon regarding M7y that 32no is considered 32wY, the same applies to the child

" He derives it from the 709 (in 1,2° [X2] Nmw) which reads "1 737 27 2 9w 7399 109 7YY 13 AKX M3 °9); that the
72°n must be 7%, meaning AwY.

* See the x°310 beginning on 2,13 there.

? ono means without any specific intent; there is no specific intent that it is 72w for Pw P (or 721), however there
is no other intent to contradict that it is not for PwYa (or 717°»). When the >331 does an act that we request of him we
assume that he has no specific intent, either positive or negative.

# This is not like ny7> 71"72 >"w7 who writes X DWW 1222 3 X1 XY

> Therefore in order to make it 72w a positive 73 of 7nw" is required, which the *131 does not have. See “Thinking
it over’ # 2.

® This child is intended to be 2121 (as opposed to the 7wk [who is married and is not presumed to be heading for a
divorce]), therefore ano is 7w3, unless there is a specific 7115 of 7AW? XKW.

"Ifa 127 was bnwl without a specific Tnw? 73, it is a WD 127p, because this animal was designated to be brought
as a 127p, and it cannot be disqualified unless we specifically uproot it from a 1279 by having a 713 of W Xow.
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that he is 7 to be 7.

Summary
T2V W17 PNYIR means that the °121 has no 712 either way, therefore by n%°»

where Rn»p w5 xnno (like 0°nar) a 121 is Ww2; however by a X where an WX is
RMP 1WA IR? a 9701 is 70D,

Thinking it over
1. Will a *751 be 7w> for 0°nar since ¥1*p 7nw? &nno (as he is by 791)? Why?

2. MpOIN writes that X»™p PYIYY WY 7wk ono;® however regarding this woman
(where the husband is instructing the *721 to write a v for her [and a 1"y¥3]), how
can we say that she is not 82»p Pw1n?!’

8 See footnote # 5.
o See nwn nbm. (See ano 1"7 2,2 0°n2a7 "0 where NDOIN writes, 121 NTAW 7T VA2 WIANTY IR ?3"?3.)
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